8.3 Show that a Quadrilateral is a Parallelogram
Yesterday, we learned about parallelograms.

Def: A quad with both sets of opp. sides

Thms : If it’s a parallelogram, then

· Both sets of opposite sides are 

· Both sets of opposite angles are

· Consecutive Int. angles are supplementary

· Diagonals bisect each other

To prove a quad is a parallelogram.

1) Use definition

If both sets of opposite sides are parallel, then it’s a parallelogram.

2) Use converses of some of above theorems.  

*If both sets of opp. sides are congruent, then it’s a parallelogram.

3) If both sets of opposite angles are congruent, then it’s a parallelogram.

4) If diagonals bisect each other then it’s a parallelogram.

5) If one set of opposite sides is congruent and parallel, then it’s a parallelogram.

On a coordinate plane. . .

Is FGHI a parallelogram?

F(-3, 1), G(2, 6), H(4, 5), I(-1, 0)

One Test: If diagonals bisect each other, then it’s a parallelogram. ( Show diagonals have the same midpoint).

